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2.2: Limits Involving Infinity pg. 70-77

Chapter 2: Limits and Continuity
'

What you'll Learn About
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Find the limit as x approaches a number
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Using the limits found above graph f{x) = —2
x+

Find the vertical asymptotes of the graph and then describe the behavior
to the left and right of the vertical asymptote
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Use your results from above to sketch a graph of f(x)=——F—
: 2x* =5x=-3
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Find the limit of the functions that involve e*
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Find the limit of the functions that involve sine and cosine
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Find the limit of the functions that involve absolute value
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53A) Find the limit of f(x) as
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55A) Sketch a graph of a function that satisfies the following
conditions.

lim f(x) =2
lim f(x)=c0

lim f(x)=-o0
x—-2"

lim f(x)=2
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Find the limit of the functions using the sandwich theorem

Example 9 (p.65)
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